Summary Plots(Run #13299) 0: Strip and cluster multiplicities
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Summary Plots(Run #13299) 1: Cluster size, timing, ADC correlations
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Summary Plots(Run #13299) 2: Strip and cluster ADC distributions and

30

20

10

%

Entries

Mean

Std Dev

2961

955.9

622.4

x1(

1 2uix max 5(3 max sampd‘

201

Entries

Mean

Std Dev

2961

1047

649.8

N

x1(

1 2 max 5'3 max sampé‘

w
T

Max strip max sample (V/Y)

Entries 2961
Meanx  955.9
Meany 1047

Std Dev x 622.4
Std Devy 649.8

10

Max strip ADC sum (V/Y)

15

10

15

10

Entries

Mean

Std Dev

2961

3980

2748

x1(

5 va strip 10um (ux sm;LS

Entries
Mean

Std Dev

2961

4366

2893

x1(

5 va strip 10um Y sm;LS

* |Entries

Mean x

1 [Meany

-] std Dev x

2961
3847
4232
2557
2720

1 std Dev y

30

Std Dev

1527

x1(

2 wadhuster-sumn U 5amp8

Entries
Mean

Std Dev

2961

2090

1503

2 MaAAster»sumn@ vIY Samp\8

Max cluster-summed sample (V/Y)
(o)) [00)
T

N

Entries
Mean x
| Meany
Std Dev x

2961
2109
2005 [8
1509

' [std Devy

1376

—16

correlations
Entries 2961 -
B Mean 2127 r

Entries

Mean

Std Dev

2961

8702

6136

aoc ci@sum (uix sm&O

10

w
o

Entries

Mean

Std Dev

2961

8503

5996

aoc ci@sum (Y44 sn.SO

ADC cluster sum (V/Y)

20

10

. [Entries
Mean x
*|Meany

Std Devx 6064
Std Devy 5541

2961
8627
8172 B

s

10°

ol lher sum 030



Summary Plots(Run #13299) 3: Tracking statistics
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Summary Plots(Run #13299) 4: Tracking residuals (inclusive)
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Summary Plots(Run #13299) 5: Tracking residuals (exclusive)
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Summary Plots(Run #13299) 6: Module 0 (UVA U/V layer 0) efficiencies
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Summary Plots(Run #13299) 7: Module 1 (UVA U/V layer 1) efficiencies
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Summary Plots(Run #13299) 8: Module 2 (UVA U/V layer 2) efficiencies
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Summary Plots(Run #13299) 9: Module 3 (UVA U/V layer 3) efficiencies
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Summary Plots(Run #13299) 10:
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Summary Plots(Run #13299) 11:
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Summary Plots(Run #13299) 12: Module 6 (UVA X/Y mid-lower) efficiencies
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Summary Plots(Run #13299) 13:
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Summary Plots(Run #13299) 14: Layer O efficiencies
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Summary Plots(Run #13299) 15:
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Summary Plots(Run #13299) 16:
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Summary Plots(Run #13299) 17: Layer 3 efficiencies
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Summary Plots(Run #13299) 18: Layer 4 efficiencies
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Summary Plots(Run #13299) 19: Module average efficiencies
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Summary Plots(Run #13299) 20:
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